S\ IEEREE 082402
MR ARSI E 5 S0 - BT
TfEsEnE » @RAT -

PEX Bi%RSEE X1.3%X (RIBFS
2P 1

DIAER 10;

19,761 T X1.3%X10 & =2,569 JT
— N\ JE 5,065 7T

WIRBANRRE TIISHE » 8

{RIE 5,065 IT ©

—  BRMERESE T ARBRELIEE

o BERBRENAT 1 FHRREREBNT Sk
i+ 4SS5 (R 538 RN R 2B 4 A i s B A 4 =
A 3B EREUHEFEENSRBEELEMT
TMEEH 5,065 TTEAGRE o

- SHEVERETE EiEF Rk -

FRFMESR

bl 2

JJEI)\IGE 351

19,761 T X1.3%X35 & =8,991 T¢
WIRIBAZETJE 8,991 7T
*ZEFEETARNNGZ 37720 BOVERESY

BEARIE 5,065 TTREBEEFIE 3,772 75 » 185
4 FIZYBISHERE 1 X -

b Rl E
WRIBAZ ARNIRAIR (57 65 ) ET
B BB MRS - B— R -

PEX RIRIBASC BB RRREE X5 BE

b1 :
INEIGEEENEREI GO ) 7RaaEess o STPEED

19,761 T X5 {EH =98,805 JtT

HERBEAEER » SOTHBZEEE —NEN
98,805 7T, ©

1688} o =) 5R| 2409
WRIBAICE « FEEEFEHAREMAREE
BNSET & » ok NS Rl e B & 4 (T ARG ST
T HTSHERIREEE (RR - 71 -8
. ERE - RFLERE - 18E) SRAFEMN -

-—

D 7 — G YNNI | A= =F 20
£EE X1.3%X (RIBTFE

N EEFEFRBERERMEARIEEAN
HEE ﬁ?zf%%ﬁﬁ X1.3%X IR IR EF
& X50%

P ems ) ERSE EE SIS

CE BLERFEHAZSEEETEN
=88 X50%

* B 3JREREARIE 3,772 7T » R 3,772 TLEHE - A—
JEFEEE 2 ALILEKE » 8% 1 A& 25% @ &
BETE 50% ©

2 lﬁﬁﬁf‘u‘ﬁ (RS B ) 0 IEERR 92
RN e A o R 7
19,761 Jt X1.3%X12 &£ =3,083 7T
—> TR 3,772 J1 » #£ 3,772 JTEtH
3,772 5t X (1+50% ) =5,658 7T

RIRBAZBESEHISE 5,658 TT °

{E?D ﬁ*ﬁ]??ﬁ% 7
19,761 7T x1.3%Xx20 £ x50%=2,569 It

—> B 3,772 7T " ¥& 3,772 jTEtHE
3,772 5T x (1+25% ) =4,715 5T

RIRBALEBEAHTIE 4,715 7T

l?"’ Sl Eﬁﬂﬁﬁfi‘u;ﬁ?ﬁﬂ%ﬁ: osiz T‘SE%’) ?

6,870 J& x50%=3,435 7T
—> NE 3,772 T ¥2 3,772 7T

SHERRBAZRBEETE 3,772 7T

BEESHMBHNT : \_

1. RERF L 3. TARE
=)

BIEFEESEERRRTE  EFSHES
Tl BIRFEBETRSHER -  EFEBEBNRE
SRRIL T HFIFERIFFOT » INE) o




